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9m? = 90000 cm?
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10000 cm? = 1 m?
170000 cm? = 17 m?
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1km? = 100 ha = 10000 a = 1000000 m?
(1) 29 km? = 2900 ha = 290000 a = 29000000 m?
(2) 34000000 m? = 340000 a = 3400 ha = 34 km?
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1km? = 100 ha = 10000a = 1000000 m?
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9ha = 900a = 90000 m?
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(8 +14) x 9 + 2 = 99(m?)
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1000kg = 1t

12400000 g = 12400 kg = 12.4t
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1t = 1000kg = 1000000 g
50600 g = 0.0506 t




1t = 1000kg = 1000000 g
2.3t = 2300 kg = 2300000 g
— 2300000 + 2300 = 2302300




12, o % 5709 915 22 e 2L ol AU

@ 6t = 6000000g @ 500kg = 04t
(@)120000 g = 1200 kg @ 0.03kg=30g
® 7000g = Tkg

1t = 1000 kg = 1000000 g
® 120000g = 120kg
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0.6t = 600 kg




18. &3 Zzio] A= 20kg YU T & 100 Ze] FA= 2 t 917
oA L.

cCh -
=

[

>
> ™t 2.4

21003 9] A 1 20 x 100 = 2000( kg) = 2(t)
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1km? = 100 ha = 10000a = 1000000 m?
2km? = 200 ha = 20000a
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(1) 250 m? + 18000 m? + 4100 m? = 22350 m?
(2) 0.0247 km? 4 0.316 km? + 0.0174 km? = 0.3581 km?
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38km? = 3800 ha = 380000a YTt
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9kg —» Dg
300g —» @kg

58t =Qkg=Dg
4600g = 4.6kg = Ot

@ 90000 @ 0.03 3 58000
@ 53000000 @0.0046

1kg =1000g , 1t = 1000kg , 1t = 1000000 g
@ 9000 @ 0.3 @ 5800 @ 5800000
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5t = 5000000 g

1.25kg = 1250 g

5000000 + 1250 = 4000 (7)




